Board Review                                    Anatomy  Test from September 1999


	1. Which of the following attaches to the olecranon process?

A. Triceps

B. Biceps

C. Coracobrachialis

D. Brachialis

2. Which of the following is located between the epidermis & dermis?

A. Granular submucosa

B. Basement membrane

C. Granular cell layer

D. Basal cell

3. If there is a fracture of the acetabular process, which of the following will also be affected?

A. Fibrous capsule

B. Ligament to the head of the femur

C. Pelvic viscera

D. ASIS

4. Cryptorchism causes sterility due to which of the following?

A. Torsion of testes

B. Physiological disturbances

C. Increase temperature in testes

D. Decrease blood flow to testes

5. Which of the following bones contains superior, middle, & inferior canchs?

A. Maxillary

B. Sphenoid

C. Ethmoid

D. Vomer

6. Which of the following nerves innervates teres major?

A. Lower sub-scapular

B. Upper sub-scapular

C. Dorsal scapular

D. Axillary

7. Which of the following nerver innervates the rhomboid muscle & levator scapula?

A. Dorsal scapular

B. Long thoracic

C. Throcodorsal

D. Dorsal primary rami


	8. If the scapula moves anterior and lateral which of the following has occurred?

A. Retraction

B. Protraction

C. Rotation

D. Elevation

9. Which of the following muscles attaches to the superior portion of ribs 1 thru 8?

A. Serratus anterior

B. Pec. Minor

C. Subcapularis

D. Suprascapularis

10. Which of the following does not attach to the rib cage?

A. Tranverse abdominis

B. Serratus posterior inferior

C. Multifidus

D. Longissmus

11. Which of the following muscles is located between the erector spinae muscle & the inferior portion of the kidney?

A. Transversus abdominus

B. Psoas major

C. Quadratus lomboris

D. Multifidus

12. Which of the following dermatomes supplies sensation to the anterolateral thigh?

A. L2 L3

B. S2, 3, 4

C. L4 L5

D. L1 L2

13. Which of the following is a diarthrodial joint?

A. Synovial joint

B. Fibrous joint

C. Innerossious joint

D. Fibrocartilage

14. Which of the following is responsible for rotation of the tibia medially?

A. Poplitimus

B. Gastroocnemius

C. Rectus femoris

D. Soleus



	15. The first cuneiform bone articulates with the                  &                  bones?

A. Talus & 1st metatarsal

B. Calcaneus & 1st metatarsal

C. Cuboid & 1st metatarsal

D. Navicular & 1st metatarsal

16. Which of the following is a discondyloid joint?

A. Tibia femoral

B. Glenohumeral

C. Hip

D. Talocrural
17. Which of the following is not part of the knee joint?

A. Tibia

B. Fibula
C. Femur
D. Patella
18. Which of the following multi-neucliated cells remodles bone?

A. Osteoclast

B. Osteoblast
C. Osteocytes
D. Progenitor
19. In which joint is the deltoid ligament located?

A. Hip

B. Wrist
C. Ankle
D. Knee
20. Articular disc in the distal radius & ulnar articulates with which of the following ?

A. Scaphoid

B. Lunate
C. Hamate
D. Capitate
21. Which of the following cells produces osteoid?

A. Osteoblast

B. Osteocytes
C. Osteoclast
D. Osteoprogenitor
	22. The common hepatic duct is a branch of which of the following?

A. Urinary bladder

B. Ureter

C. Urethra

D. Ejaculatory duct

23. The post fornix of the vagina forms the boundary for which of the following?

A. Vesicounterine pouch

B. Vesicorectal pouch

C. Rectouterine pouch (AKA: Pouch of Douglas)

D. Urinary bladder

24. The common hepatic duct is a branch of which of the following?

A. Celiac trunk

B. Superior mesenteric artery

C. Thoracic artery

D. Inferior mesenteric artery

25. Which of the following supplies general sensation to 2/3 of the tongue?

A. CN VII

B. Lingual nerve

C. CN XII

D. CN XI

26. During swallowing the posterior enterance to the nasal cavity is blocked by which of the following , therefore preventing aspiration?

A. Soft palate

B. Tongue

C. Hard palate

D. Epiglottis

27. In which of the following does spermatogenis occur?

A. Seminiferous tubules

B. Vas deferens

C. Ejactlatory duct

D. Interstitial cells of leydig

28. What divides the posterior triangle of the neck into posterior & inferior?

A. Posterior belly of digastric

B. Inferior omohyoid

C. Superior omohyoid

D. Anterior belly of digastric

	29. The thymus gland in located in the          mediastinum?

A. Superior

B. Middle

C. Anterior

D. Posterior

30. The urether lies anterior to which of the following?

A. Psoas

B. Inferior vena cave

C. Quadratus lumborium

D. Adominal aorta

31. The         is a thin muscle that lies just below the rhomboid muscle?

A. Serratus posterior superior

B. Trapezius

C. Levator scapulae

D. Splenius servicis

32. A fracture of the surgical neck of the humerus damages which of the following nerves?

A. Axillary

B. Radial (in mid shaft)

C. Median

D. Ulnar

33. Which of the following ligaments holds the long head of biceps tendon in the intertubercular groove?

A. Transverse humeran

B. Coracortical

34. Bronchi are innervated by which of the following nerves?

A. Intercostals

B. Greater splantic

C. Vagus

D. Glosonpharyangeal

35. The seasmoid bone in the foot is located in which of the following tendons?

A. Flexor hallicus brevis

B. Flexor hallicus longus

C. 1st lumbricle

D. Adductor hallicus
	36. A tendon to what muscle attaches to the base of the radial styloid muscle?

A. Extensor carpi ulnaris

B. Brachioradialis

C. Pronator quadratus

D. Extensor pollicus longus

37. Which of the following muscles attaches to the spine of the scapula acromion & distal clavicle?

A. Trapizius

B. Levator scapulae

C. Teres major

D. Rhomboid minor

38. What segmental level supplies motor function to the anterolateral leg?

A. L5 S1

B. L1 L2

C. L2 L3

D. S3 S4

39. Which of the following joints contains labrum?

A. Hip

B. TMJ

C. Wrist

D. Proximal radioulnar

40. Which of the following is an extension of the anterior aspect of the capsule of the glenohumerous?

A. Clavicular coracoid ligament

B. Acromioclavicular ligament

C. Glenohumeral ligament

D. Transverse humeral ligament

41. The medial & lateral lines of the aspira on the posterior femur become?

A. Supracondylar ridge

B. Intertrochenteric crest

C. Greater troncanter

D. Lesser troncanter

42. Which of the following muscles can be palpated laterally in the ischiorectal fossa?

A. Obturator internus

B. Obturator externus

C. Pubococcygeus

D. Coccygeus

E. 

	43. The true pelvis is located?

A. Above the pelvic inlet

B. Below pelvic inlet, but above pelvic outlet

C. Below pelvic outlet

D. From ischial tuberosity to the sacrum

44. Plantar flexion & inversion produces damage to which of the following ligaments

A. Anterotalofibular

B. Calcanues fibular

C. Posterior talofibular

D. Deltoid

45. Which of the following lies anterior to the thyroid gland?

A. Strap muscle

B. Trachea

C. Esophagus

D. Reccurent laryngeal nerve

46. Which of the following muscles is a main internal rotator of the shoulder?

A. Teres minor

B. Infra-spinatus

C. Supra-spinatus

D. Subscapularis

47. The medial pterygoid muscle is supplied by which of the following nerves?

A. Trigeminal

B. Facial

C. Glossopheryngeal

D. Hypoglossal

48. The main function of the oval window is?

A. Sensing organ hearing

B. Sensing organ balance

C. Transmit sonic vibration to ossicles of perilymph

D. Transmit sonic vibration to endolymph

49. The vocal cords attach to the thyroid cartilage and the?

A. Artenoid cartilage

B. Cricoid cartilage

C. Cuneiform cartilage

D. Corniculate cartilage
	50. Costal joint in a child is         cartilage?

A. Hyaline
B. Fibrous

C. Elastic

D. Fibrocartilage

51.  The           rib is at the junction of manubrium & body of the sternum?

A. 1st 

B. 2nd
C. 3rd 

D. 4th
52. Inability to flex the distal phalanx of the big toe is due to a lesion to which of the following nerves?

A. Tibial

B. Lateral plantar

C. Medial plantar

D. Deep peroneal

53. Which of the following is the most superficial vein?

A. Sural

B. Lesser saphenous

C. Popliteal

D. Femoral

54. Which of the following vessels has a thin tunica media, thick tunica adventia & valves in the lumen?

A. Lymph vessels

B. Capillaries

C. Veins

D. Large elastic arteries

55. The lens & the cornea are derived from which of the following?

A. Surface ectorerm

B. Mesoderm

C. Endorerm

D. Somites

56. The medial plantar nerve innervates which of the following muscles?

A. 1st lumbricle

B. 2nd lumbricle

C. Adductor hallicus

D. Adductor digiti minimi



	57. Which of the following ducts opens into the vestibule of the mouth?

A. Parotid

B. Wharton’s

C. Submandibular

D. Sublingual

58. The pleural cavity is lined by which of the following cells?

A. Simple squamous

B. Flat mesothelial cells

C. Simple columnar

D. Simple cuboidal

59. Which of the following types of epithelium is found in the nose?

A. Pseudostratified columnar

B. Stratified squamous

C. Simple squamous

D. Transitional

60. The thoracic crura of the diaphragm attaches to which of the following vertebra?

A. T5 – T7

B. T8 – T10

C. T12 – L1

D. L1 – L3

61. Which of the following is the origin of the semitendinosis?

A. Ichal tuberosity

B. Ishal spine

C. ASIS

D. PSIS

62. Which of the following is formed by the intermembranous bone?

A. Radius

B. Clavical (or parietal)

C. Scapula

D. Calcaneus

63. The right common carotid artery branched from which of the following arteries?

A. Aorta

B. Right subclavian

C. Brachiocephalic trunk

D. Verterbral


	64. What part of the mediastenium is the heart located in?

A. Superior

B. Middle

C. Anterior

D. Posterior

65. Bones & joints in the extremities are derived from which of the following?

A. Somatic lateral mesoderm

B. Splanichic mesoderm

C. Ectoderm

D. Myotome

66. The intermediate cuniform articulates distally with the metatarsal?

A. 2nd
B. 2nd & 3rd
C. 5th 

D. 1st 

67. Which of the following is a cell type for the corpus spinosum?

A. Stratified columnar

B. Simple squamous
C. Erectile tissue

D. Transitional tissue

68. What is the cause of penile erection?

A. Arterial dilation of corpus cavernsium

B. Increase muscle contraction

C. Decreased sympathetic firing

D. Increased sympathetic firing

69. The horizontal fissure separates which lobes of the lung.

A. Right superior and right middle

B. Left superior and left middle

C. Right middle in right inferior

D. Left superior and left inferior

70. What connective tissue surrounds each muscle fiber fascicle?

A. Perimysium

B. Endomysium

C. Pirineurium

D. Endoneurium



	71. Which of the following nerves supplies Gracilis muscle?

A. Obturator

B. Femoral 

C. Superior Gluteal

D. Tibial

72. The posterior costal plura extends to what thoracic level?

A. T-8

B. T-10

C. T-12

D. T-9

73. Which of the following is a synonym for dust cell?

A. Type I alveolar cell

B. Type II alveolar cell

C. Macrophages

D. Goblet cell

74. What two bones make up a joint known as schindylesis?

A. Ethmoid and vomer

B. Ethmoid and sphenoid

C. Sphenoid and occipital

D. Frontal and ethmoid

75. Muscles bundles aid in which of the following?

A. Muscle tension

B. Proprioception

C. Muscle firing

D. Vibration sensation

76. Horizontal fissure of the lung is at which of the following spinal level?

A. T-6

B. T-4

C. T-3

D. T-8

77. Which of the following bones articulates approximately with the radius?

A. Lunate

B. Trapezium

C. Pisiform

D. Capitulate


	78. What structure passes through left and right crura of the diaphragm?

A. Infraspinatus

B. Subscapularis

C. Tears minor

D. Teres major

79. The annular ligament is found in which of the following joints?

A. Proximal radiolunar

B. Distal radiolunar

C. Tibofemoral

D. Glenohumaral

80. What structure passes through left and right crura of the diaphragm?

A. Inferior vena cava

B. Vagus nerve

C. Esophagus

D. Aorta

81. Which of the following attaches to the corcoid process of scapula?

A. Pectoris minor

B. Pectoris major

C. Brachialis

D. Triceps

82. What is a derivative of the paramesonephric duct?

A. Ureter

B. Uterus

C. Ovaries

D. Testes

83. Which of the following bones has only one articulation?

A. Hamate

B. Trapezium

C. Pisiform

D. Scaphoid

84. What is an external rotator of the shoulder?

A. Supraspinatus

B. Infraspinatus
C. Teres major

D. Pec. Major

85. Which of the following glands commonly undergoes calcific changes?

A. Perineal

B. Suprarenal

C. Parathyroid

D. Thyroid 

	86. Pituitary gland sits in the depression of what bone?

A. Frontal

B. Sphenoid

C. Ethmoid

D. Maxillary

87. Which of the following Dorsiflexes the foot?

A. Peroneus tertius

B. Peroneus brevis

C. Peroneus longus

D. Soleus

88. Tendon of long head of Brachioradialis is found?

A. Trochlear fossa

B. Olecranon fossa

C. Radial groove

D. Inter-tubercular groove

89. The cupula is located in the?

A. Cervical pleura

B. Diaphragmatic pleura

C. Costal pleura

D. Mediastinal pleura

90. Which of the following cranial nerves innervates the esophagus?

A. Vagus

B. Hypoglossal

C. Glossopharyngeal

D. Accessory

91. The brachial Plexus goes through which of the following muscles?

A. Scalenus anterior and posterior

B. Scalenus medial and posterior

C. Scalenus anterior and medial

D. Splenius anterior and SCM

92. What is not a border of foramen of Winslow?

A. Anterior to portal vein, Hepatic artery, and bile duct

B. Posterior the inferior vena cava

C. Superior the caudate lobe of liver

D. Inferior the superior part of duodenum


	93. Will part of the fallopian two contains uterine ostium?

A. Isthmus

B. Ampulla

C. Infundibulm

D. Fimbria

94. Taenia coli are features of what structure?

A. Fundus

B. Cardiac

C. Haustra

D. Pylorus

95. Which of the following is an outgrowth of Hepatic Diverticulum?

A. Spleen

B. Duodenum

C. Cystic duct

D. Stomach

96. The floor of Palatine tonsils lies between?

A. Palatopharyngeal and middle constrictor

B. Palatopharyngeal in superior constrictor

C. Palatoglossus and styloglossus

97. To tail the pancreas is in contact with the?

A. Spleen

B. Liver

C. Duodenum

D. Sigmoid colon

98. Veriform appendix is an outpouching of?

A. Ascending colon

B. Duodenum

C. Ileum

D. Cecum

99. The insertion of the patellar tendon is?

A. Tibial tuberosity

B. Fibula

C. Medial condyle of tibia

D. Lateral condyle of tibia

	100. The submental artery is a branch of which of the following arteries?

A. Temporal

B. Posterior auricular

C. Mentalis

D. Facial

101. The lymph nodes of the breasts drain into?

A. Pectoral nodes

B. Parasternal nodes

C. Abdominal nodes

D. Supraclavicular nodes

102. Which nerve runs anterior to the psoas muscle?

A. Genitofemoral

B. Obturator

C. Femoral

D. Splenic

103. Which part of the uterine to contains abdominal ostium?

A. Isthmus

B. Ampulla

C. Infundibular

D. Fimbria
	


